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Q.1(a)

on A . 3 orinee 0 p - and 20log
5 5 5 5 -,

Write short notes on:

(i) Kerbs

(i) Camber

(il Pavement uneveness

(iv) Shoulders
[12 marks]
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Q.1(b)

(i

(i) Define stopping sight distance and intermediate sight distance.

(ii) Calculate the minimum sight distance required to avoid a head-on collision of two
cars approaching from the opposite directions at 80 kmph and 60 kmph. Assume a
reaction time of 2.5 seconds, coefficient of longitudinal friction of 0.35 and a brake

efficiency of 60 percent, for both the cars.
[4 + 8 =12 marks]
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Q.1 (o)
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Two stations P and Q were on either side of a river 1200 m apart. The instrument was
kept near P and the readings on the staff kept at P and Q were 1.701 m and 2.427 m
respectively. The instrument was then shifted to Q and the readings on the staff held at
P and Q were 0.805 m and 1.285 m respectively. If the reduced level of P is 203.135 m,
then find the RL of Q. Also, find the error due to refraction if the collimation error of
the instrument is 0.002 m in 100 m.

; [12 marks]
nstrument (toffreading
P S
P (20| D2t
8 0806  1285m .
OH = €p-59) + (5p-Sa
2
= (rrol-2623)+ (0805 -1-285
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Q1(d)

(i) What are the basic elements involved in electromagnetic remote sensing?
(i1} What is the difference between passive and active remote sensing?
(ii) What are the various disadvantages of remote sensing?
| [4 + 4 + 4 =12 marks]
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Q.1 (e)| Spot speed studies were carried out at a certain stretch of a highway with mixed traffic
flow and the consolidated data collected are given below.

Speed range, kmph | No. of vehicles observed

0 to10 10
10to 20 20
20to 30 68
30 to 40 90
40 to 50 205
50 to 60 250
60 to 70 120
70 to 80 40
80 to 90 30
90 to 100 17

Determine:

(i} the upper and lower speed limits for installing speed regulation sign‘at this road
stretch, and

(i) the design speed for checking the geometric design elements of the highway.
[12 marks]
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Q2 (a)

(it) design «peed = ggth percentile

;
U/\ o®° ’\

(i) The following figures were extracted from a “level field book”, some of the entries
being illegible. Insert the missing figures, check your results, and re-book all the
figures using the “rise and fall” method.

Station | BS. | 1S, | ES. | Rise | Fall R.L. Remarks
1 2.285 23246 | BM No.1
2 1.650 X 10.020
3 2105 X
4 x 1960 | X
5 2.050 1.925 0.300
6 X X 232.255 | BM. No. 2
7 1.690 X 10340
8 2.865 2.100 X
9 X X 233.425 | BM. No. 3

(ii) A plandrawntoascale of 1cm =20 m has shrunk such that a line originally 10 cm
long has shrunk to length of 9.78 cm. A line AB which measures 18.7 cm on paper
now has to be set out on the ground. To what length should it be set, if the 20 m
chain available for measurement is 0.015 m too long?

[15 + 5 = 20 marks]
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Q.2(b)

The consolidated data collected from speed and delay studies by floating car method on
a stretch of urban road of length 4.0 km running North-South are given below.

Determine the average values of (i) volume, (i) journey speed and (iii) running speed of
the traffic stream along each direction. '

L . Total stopped | No. of No. of No. of vehicles
. Direction | Journey time 3 - i
Trip No. , . delay vehicles vehicles | from opposite
of trip min-sec ) i L

min-sec overtaking | overtaken | direction
1 N-5 6-30 1-40 4 7 270
2 S-N 7-16 1-40 5 3 180
3 N-§ 6~ 40 1-50 4 2 280
4 5-N 7-50 2-10 2 1 200
5 N-§ 6-10 1-30 3 5 230
6 S-N 8§-24 2-20 3 4 170
7 N-5 6-40 1-40 2 5 300
8 S-N 7-30 1-10 2 2 150

[20 marks]

Direcion| TT |delay oucn‘&(dnj overfalten op postfe

N-S. [6'z0 | 100 | 32§ y-s | 2fo
€ u] Fys [ 1150 7 o P
N-5 |

No=t f?g:?*??w;}’ﬂ“ Yoz 2:ys =y 654cc

;f&;// o = 6130 = 3908ec

1 = g natty
foftw

= Jegela = 02029 ,U’é/h/r&(ic

651390 |
Y65t ;W/mm-

(1) “Tourney Hime= +j- Ny

(i) 9
= 390 ~ (—'T_‘s%‘aozﬁ
ZBQLeiyé




MADE ERSY Question Cum Answer Booklet | Page 13 of 64

Do not
write in
this margin

——

Tourney &pecci;%oog/;ro\oag m/g _
+-39

i) annins, e - gy

2
- #8100 - 20880me0 29739400

Yunn'ﬁq &pecd: HOOO _ e
2®F39 | sm/ecc

5= N direcfion

—

loc= 230 Ny > 3-2.6=0'¢ Aa=3904lc
dw= ybsAcc

(1)
= Nat'ly 05
1 Do = 2T0H9° | h3i63vehfiee

390465 :W‘

ur) Tourney 4tme - £i-Ny

(&) i
= yes-05 _—
O €
=Y631q/98ec
Tourney ngeCd = Yyooo =362 ’
ué3-ylq |
1) vunning Hime - %%uj?;oacc:




MAEDE ERSY4Y Question Cum Answer Booklet

Page 14 of 64

Do not
write in
this margin

Q.2 {¢)

(i)

(ii)

Write short notes on the following tests for aggregates:

1. Los Angeles abrasion test
2. Impact test

Also, mention their respective recommended values for pavement construction.

A Marshall specimen is prepared for bituminous concrete with a bitumen content
of 5% by weight of total mix. The theoretical and the measured specific gravity of
the mix are 2.45 and 2.35 respectively. If the bitumen has a specific gravity of 1.02,
then what is the percent voids in mineral aggregate filled with bitumen (VEB)?

() s P
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. S__ 3
U - d S\XIOO
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5 5/KQQ§rW(§M6/
02

+ NMA = otV = 403+11-5196

~15-599/

CRR= VY v ipo
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1$-56Q6
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[15 + 5 = 20 marks]
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Q.3 (a)

vecommended values
(__’JZUB bate =us/.

bae courte =00/,

(o=
Tnttal et of aggl€ afes dhat Pa/sacz& Hivowsh

(1MM0lVld vefatned /o (OMW Lreve
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/s

«)

(i) The whole circle bearings of the lines of a closed traverse are given below. Check
the bearings for local attraction. Correct the bearings by calculating the included

angles.

PQ : 41°20° QP : 221°2(/
QR : 114°30° RQ : 293°50
RS : 164°40° SR : 346°20/
SP : 275°30° PS: 94°30/

(ii) Explain the differences between a prismatic compass and the surveyor’s compass.
[14 + 6 = 20 marks]
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Q.3 (b)

() Using the data given below, calculate the wheel load stresses at interior, edge and
corner regions of a cement concrete pavement using Westergaard's stress equations.
Also determine the probable location where the crack is likely to develop due to
corner loading.

Wheel load, P = 5000 kg

Modulus of elasticity of cement concrete, E = 3 x 10° kg/cm?
Pavement thickness, b = 20 cm

Poisson’s ratio of concrete, p = 0.15

Modulus of subgrade reaction, k = 6.0 kg/cm?

Radius of contact area, a =15 cm.
(i) What are the differences between flexible pavement and rigid pavement?
[16 + 4 = 20 marks]
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Q.3 (9

(i)

(i)

(]

Explain the following terminologies used in theodolite surveying.
1. Faceright
2. TFaceleft
3. Swing the telescope
4. Line of collimation
5. Telescope inverted
A stee] tape of weight 20 N is 30 m long at a temperature of 16°C and a pull of 50 N
when laid on a flat surface. Find the correct length of the tape at a field temperature
of 28°C and under a pull of 120 N. If in the above condition, a base line is measured
and the recorded length of the line is 640 m then find the correct length of the base
line.
Take c.=12 x 10%/°C and E = 2 x 10° N/mm?, A = 7.5 mm?.

[10 + 10 =20 marks]
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Q4 (a)

(i) Explain the basic principle of triangulation and also explain with figure different
types of triangulation systems.

(ii) Find the length and bearing of line BC from the partial data available for transverse

ABCDA.
Line AB [BC| CD | DA
Length (m) | 1565 | - | 2348 |203.1
Bearing | 78°40° | - | 251°18’ | 3°45°

[8 + 12 = 20 marks]
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Q.4 (b)

i)

(ii)

i 1
A vertical summit curve is to be designed when two grades, +56 and - G Meeton

a highway. The stopping sight distance and overtaking sight distance required are
150 m and 650 m respectively. But due to site conditions, the length of vertical curve
has to be restricted to a maximum value of 500 m if possible. Calculate the length of
summit curve needed to fulfil the requirements of (1) stopping sight distance (2)
overtaking sight distance or atleast intermediate sight distance.

A valley curve is forrned by a descending grade of 1 in 30 meeting an ascending
grade of 1 in 40. Design the length of valley curve to fulfil both comfort condition
and head light sight distance requirements for a design speed of 90 kimph. Assume
allowable rate of centrifugal acceleration, C = 0.6 m/sec.

[10 + 10 = 20 marks]
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Q.4 ()

(©)

(1)

S

Given below are the perpendicular offsets that were taken from a chain:

Chainage (m)

0

30

60

90

120

150

180 | 210

Offset length (m)

0

742

6.27

9.40

8.42

8.21

8.96 | 7.84

Compute the area between the chain line and irregular boundary using Simpson'’s

rule.

In a pair of overlapping vertical photographs, the mean distance between two
principal points both of which lie on the datum is 6.5 cm. At the time of photography,
the air craft was 600 m above the datum. The camera has a focal length of 150 mm.
In the common overlap, a tall chimney 100 m high with its base in the datum surface
is observed. Determine difference of parallax for top and bottom of chimney.

[10 + 10 = 20 marks]
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Q5 (a)

» 0
[] D 0 C s LS D (1d 0 L4 0 1€

The natural water content of a sample taken from a soil deposit was found to be 12%. It
has been calculated that the maximum density for the soil will be obtained when the
water content reaches 20%. Find the void ratio of soil in its natural state andvolume of
100 kN of soil in its natural state. Also, compute how much of water must be added to
each 100 kN of soil (in its natural state) in order to increase the water content to 20%. The

degree of saturation in its natural state was 42% and G = 2.65.
[12 marks]

Ll = '2\/ Tdmau_ qelb QO/
Aofuration=y2-/,
G=265
CA=WIG 3
G(du@:owaQ@§//
- 0-35FY
Yhulle= Yuylutes)
[+€
=281(2:65+ 0-351ou2))
l+6-26+
;%S4KNML

Y hulle = O

\V
1651+ = 1oo
Vot )

o

= Vioil = 100 = go3€m3.
16:54¢
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Q.5 (b)

watev content 4o be added= YaVv(wi-w,)

= 1657 4 603 5,(-2"o~ra)
Iste 100

volume of (pafer added- wt
Yoo

=1y
G-3|

=0-%28m?

= e R

Skeciaal

A factory uses 4,00,000 litres of furnace oil (specific gravity 0.97) per month. If for one
million litres of oil used per year, the particulate matter emitted is 3.0 tonnes per year,
SO, emitted is 59.7 tonnes per year, NO, emitted is 7.5 tonnes per year, hydrocarbons
emitted are 0.37 tonnes per year, and carbon monoxide emitted is 0.52 tonnes per year,
then calculate the height of the chimney required to be provided for safe dispersion of
the pollutants? (Assume 300 working days and 24 hours per day)

[12 marks]

b pg)

,FP/:/l’u( @:O‘UMLD :

H =1y (59-2) o

= i - -

H =2 (Q)O‘S'
:%a[o-s&)oié‘
g S’C?J?%bff-m .
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Q.5 (c}

@

(i) What are the probable types of failure of a finite slope?
(i) With the help of neat sketch, explain vane shear test.

Q1 vane thear fest

[5 + 7 = 12 marks]

of cevkatn ht -
5 The apparatud 14 r)COrCCc!(;{ bor-ofriven  irfo the

ﬁround
S>The apparafus (« dhen yvotufed ot «f per min-
Lo +aat 4he Lotl wotll geT‘ Aheaved .
> by Fhic we can dfiad how much torgue fe applied
and we cn find e Lshear sfrength of <ot/

it s genevally uged in he mavine goil 1 411 €

¢ lay .
- [_r‘guf‘d timtt alto  cam pe found by This .

= dta. of bladey
D H=HT of bladg .
c/p/a a

, 7= Tt by sicts
' WW
I \,
,<i/ T Cuxn” )\A.)rwadla&f
rfhc,ar(‘rxj

T, (a T/[f— M) N one gtde
Lheariny

> T+ conststs of blades around He central vod
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they ave +hree +ypes of failurg
) Face Latlure
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3) bade fatluve .
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. &oft[ below bode (L und i furbed ﬂ
To€ Qﬁqffqve
- Fatlure creelt surface 14 at Hoe

- Depth facfor =1 f\

bare fatlure rd
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Q.5 (d}| Figure below shows a soil profile consisting of two layers of clay and two layers of sand,
all of which is completely submerged. Compute the total settlement under a uniform
load of 160 kN/m?, well distributed over a large area. Given the following soil properties:
*  Forsand layers, v, = 21 kN/m?
*  Forclay layers, w =40%, C.=024, G=27
160 kN/m”
b bbby
( 2m Clay
5m Sand
l 3m Clay
T Hard strata
[12 marks]

At 2 (ﬂHr) + AH)
«}Wg;c[aq “bottom clay .
Velay= Yw(({ff)

BH= _H (¢ log|1t8" ¢
It+€o e Oﬂ( A ) P (M
=)
6/! 3/5!/6[{) @S:U)a-
e(n)=0-ul2)
=108

Yelay = Q8¢ (234 F'03> = f9‘823'5”/“r3 ‘
208 .

7 = 21 (u)$12:822(1) » G.8) [5)
—:§2"}?“?' rCfU/m'r ;

PHi =2 xo-2ulo9 [i?ii'* ’50):0439%\
P1-09

L2-3d
L/Z’Y?q/"?S’GMM‘



MADE ERSY Question Cum Answer Booklet |

Page 38 of 64

Do not
write In

fov

ho flom (lay
AMy= _H ¢ Iog{ ‘}iﬂv
I €o 2

(2 = Yiand (Cf)-}- chov{/l'f'l*‘j’")._yu) (,,3-5)
= 21(Q) 412823 (3°5) -9-81( 2-5)
;l28~}@=ff“/m§ ‘

AH = 3 xo-eylog (fZS'%«?-Héo)

/4103 128 %2

=121 uoImm—

—“<D'H}+O+Qf: AHrtaH,

= 120014139334

/
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Q.5 ()

Write short notes on the following coagulants used in coagulation aided sedimentation:
(i) Alum
(ii) Copperas
(iii) Sodium aluminate
[12 marks]

Uh!um

it 14 dhe cheapett cg%u[anf

> it tf generally udged . Tndla

pH vange 65-8

5 infroduce Non carbonate hardnes and  Jres
Hhe pH of +he pater -

e

2 RL(04), 18H0 T8 Alum  whote rolecular wi
= 6669

11T yemoy odout, tayfe and colour -

(in)

ol (%equ
= p" vange <6$ and 785 -
= Cannot produce floc fn C@/f@qred woater

5 fFedy and Pea(50u)5, are”” called ad ¢hlovinafed

COPP@YM ,
> Audfictent ~Calincty meut be fym,\ef\.

> T+ triroduces hardness in water
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Q.6 (a)

(i)

(i)

A square raft of 4 m x 4 m carries a load of 300 kN/m?. Determine the vertical stress
increment at a point 6.0 m below the centre of loaded area using Boussinesq’s theory.
Compare the result with that obtained by equivalent point load method and with
that obtained by dividing the area info 4 equal parts, the load from each of which is
assumed to act through it’s centre.

For the following projects, would you prefere to compact the soil on the dry side of
OMC or on the wet side of OMC? Explain with suitable reasons.

1. Homogeneous earth dam.

2. Core of an earth dam.

3. Subgrade for highways
[14 + 6 = 20 marks]
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Q.6 (b)

(i) Explain disposal of refuse by sanitary land filling method. Also, explain its

advantages and disadvantages.

(if) Explain the types of settling in sedimentation tank.

[15 + 5 = 20 marks]




MADE ERSY Question Cum Answer Booklet

Page 44 of 64

Do not
write in
this margin




MRDE ERSY Question Cum Answer Booklet

Page 45 of 64

Do not
write in
this margin




Do not

e MBDE ERSY Question Cum Answer Booklet | Page 46 of 64 :;T:fgg@n l

Q.6 (c)| (i) Laboratory results of a soil have shown that its unconfined compressive strength is
130 kN/m?. In a triaxial compression test, a specimen of the soil when subjected to
a confining pressure of 40 kN/m? failed at an additional stress of 150 kN/m?
Estimate the shearing strength of the same soil along a horizontal plane at a
depth of 5 m at the site. The ground water is at a depth of 2.5 m, from the ground
level. The dry unit weight of soil above water table is 16 kN/m? and specific
gravity, G = 2.65.

(ii} Briefly explain preconsolidation pressure.
[16 + 4 = 20 marks]
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Q.7 (a)

Calculate the amount of hydrated lime and soda for treating 50,000 litres of water per
day if the water contains the following impurities:

CaCO, = 280 ppm NaCl = 35 ppm
MgCl, = 138 ppm Fe,O, = 55 ppm
Mg(HCO,), =100 ppm CaSO,; = 110 ppm
MgSO, = 80 ppm Si0, = 40 ppm

Purity of slaked lime is 86% and that of soda is 98%.
(Atomic weights in gm: Ca =40, Mg =24,5=32,Cl1 =355, C=12, O =16, Na = 23,

Fe = 56 and Si = 26)
[20 marks]
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Q.7 (b)

What is lateral earth pressure? With the help of diagrams explain the types of lateral
earth pressure and derive the expression for coefficient of earth pressure in each case for

cohesionless soil.

[20 marks]
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Q.7 {c)

Following mean monthly flows were observed on a site of a screen in a typical year.

Month Jan | Feb | March | April | May | June | July | Aug. | Sept. | Oct. | Nov. | Dec.
Mean monthly
flow {cumec})
Assume that the screen flow is fully utilised for delivering water to the city to meet fixed
monthly demand by diversion of the flow from storage reservior through a conduit.
Find the capacity of conduit (in m?/sec) for which it is to be designed and also determine
minimum capacity (in hac.-m) of the storage reservior to ensure that all the available
flow is fully utilised to meet constant monthly demand of the city.

15 | 10 8 6 5 12 | 25 | 40 71 60 | 40 20

[20 marks]
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Q.8 (a)

(i) What do you understand by seepage pressure and quick sand condition?
(i) What is a flow net? Explain the properties and uses of a flow net.

[8 + 12 = 20 marks]
R (dl 4ccga§-cpr(cé§w¢
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Q.8(b)

A rapid sand filter is to be provided in a water treatment plant, to process the water for a
town with a population of 2,75,000. The average water demand is 200 It/capita/day. The
rate of filtration is 15 m®/m?/hour. Allow 5% of filtered water for storage to meet the
backwash requirements. Each backwashing period is of 30 min. Determine the number of
filters required allowing one as a standby unit. The available surface area configuration of
filter unit is 10 m x 4 m. Also, compute the up-flow velocity and head loss to expand the
bed to 0.66 m from its original undisturbed depth of 0.6 m. The porosity of the bed is 0.5.
Specific gravity is 2.5. The average particle size is 0.6 mm. The drag coefficient is 5.02. The
flow is assumed to be transitioned flow.

Stotal = § pevcap ffa X;)opu[‘aﬁorn o martel
>@,¥5,000 Y200
= §§xﬂo6ﬂ/da7
Qavg  =85MLD
Q mou = (8@&\@ IBK/Q

‘/C(MLD ~ LiHered water for
aupply
V)
C\l en 5"/ of QL!H(‘YECI waftr U uded (FO* bOC[COOCL&’t\

- Total @veured ﬁ_
O« QS

=10WE IMIED ~) Todal watey

\/ Y eq/d
(Q A)YeczurrCQ‘ = 8

feOf~
= fog2rxo¥,,3.  Fomin Jov 3
R3Shy baclcwat

!§m3%fﬁ;/i\r
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Q.8 (¢

A 0.5 m diameter gravity well is being pumped at a steady rate of 1500 It/min. The
drawdowns of 5 m and 1.5 m are observed in the nearby observation wells, at distances
of 6 m and 16 m from the well being pumped, after the steady state has been reached.
Assume the well to be fully penetrating and the bottom of well is 100 m below the
undisturbed ground water level and that all the point observed lie on the Dupit’s curve.

(i)  Determine coefficient of permeability of medium.
(ii) Drawdown in the well being pumped.

(iii} Compute the specific capacity and maximum rate at which water can be pumped
from this well.

(iv) Compute the drawdown in the observation well corresponding to the maximum
rate being pumped from the test well.

[20 marks]
§=1Smmin . H=loom.
Given i unconfined aquifer
() Q= TI(RI-H:*) He=H-50 Ry=16m
(R = 100-1'5
<fZL) =936m
) Ho=H-52
6 =Kk Q&-Srqﬁ) =00 =g Rz =6m.-
-
5
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[£)
r(ag-s>-as?) AT

y ¢
- é O\\ /
IC:M/{!O({m/m?n Rl
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